
59
4 

/ 8
24

 / 
10

54
m

m

11
64

~1
86

4m
m

pe
r 1

00
m

m

20
0~

62
2m

m

15°

792mm

200~870mm

498mm

400mm

796mm

INSTRUCTION MANUAL

WWW.NEOMOUNTS.COM

PLASMA-M2000E

EN	

NL	

DE	

FR 

IT	

ES	

PT	

DK	

NO	

SE	

FI	

PL	

CS

SK	

RO	

Floor stand

Vloersteun

Bodenständer

Support au sol

Supporto da pavimento

Soporte de suelo

Suporte de chão

Gulvstander

Gulv stativ

Golvstativ

Lattiateline

Stojak podłogowy

Podlahový stojan

Podlahový stojan

Stativ pentru podea



Assemble the base
Monteer de voet
Montage der Füsse
Assemblez la base
Montare la base
Montar la base
Montar a base
Złóż podstawę

EN
NL
DE
FR
IT
ES
PT
PL

PARTS

PLASMA-M2000E

Tool

Screen size

VESA

Weight capacity

Tilt

Swivel

Rotate

Height

Depth

Gas spring

Curved screen compatible

Quick-release VESA

Top-�x clamp

180° lock system

Handlebar

Crossbar

Cable management

Screen size

VESA

Weight capacity

Tilt

Swivel

Rotate

Height

Depth

Gas spring

Curved screen compatible

Quick-release VESA

Top-�x clamp

180° lock system

Handlebar

Crossbar

Cable management

0-125 kg | 
0-275 lbs

STEP 1

A. (1x)

Screen size

VESA

Weight capacity

Tilt

Swivel

Rotate

Height

Depth

Gas spring

Curved screen compatible

Quick-release VESA

Top-�x clamp

180° lock system

Handlebar

Crossbar

Cable management

Screen size

VESA

Weight capacity

Tilt

Swivel

Rotate

Height

Depth

Gas spring

Curved screen compatible

Quick-release VESA

Top-�x clamp

180° lock system

Handlebar

Crossbar

Cable management

200x200 | 
870x620 mm

B

Screen size

VESA

Weight capacity

Tilt

Swivel

Rotate

Height

Depth

Gas spring

Curved screen compatible

Quick-release VESA

Top-�x clamp

180° lock system

Handlebar

Crossbar

Cable management

Screen size

VESA

Weight capacity

Tilt

Swivel

Rotate

Height

Depth

Gas spring

Curved screen compatible

Quick-release VESA

Top-�x clamp

180° lock system

Handlebar

Crossbar

Cable management

115-185 cm 

B. (4x)

C. (1x)

D. (2x)

E. (1x/each)

F. M8 (6x)

G. M8 (6x)

H. M8 (4x)

I. M8 (2x)

J. (1x)

K. (2x)

L. 
M4x16 (8x)
M4x25 (8x)
M5x16 (8x)
M5x25 (8x)

M6x20 (6x)
M6x40 (6x)
M6x55 (6x)

M8x20 (6x
M8x40 (6x)
M8x55 (6x) 

M. Washers
M5x8 (8x)
1/4” (6x)

N. Spacers
(12x)

O. (4x) P. (1x)

Q.  
M10(1x)

R. (1x) S. (2x) T. 
3/8”(2x)

U. 
3/8”(2x)

V. 
3/8”x1(2x)

W. (4x) X. (4x) Y. (2x) Z. (2x)

AA. (8x)

AB. M8 (16x)

AC. M8x10 (16x)

500 mm

700 mm



Attach the pole to the base
Bevestig de stang aan de voet
Befestigung der Stange an der Basis
Fixez les tubes à la base
Attaccare il palo alla base
Adjunte el poste a la base
Anexe o poste à base
Przymocuj słupek do podstawy

EN
NL
DE
FR
IT
ES
PT
PL

STEP 2

Assemble the plateau
Monteer het plateau
Montage der Platte
Montez le plateau
Assemblare l’altopiano
Instale la meseta
Instale o platô
Zainstaluj półkę pod kamerę

EN
NL
DE
FR
IT
ES
PT
PL

STEP 3

F

G

C

S

T

U

V

Q

R

P



Install the adapter brackets
Bevestig de adapter steunen
Montage der Halterungsschienen
Installation des supports d’adaptateur
Il montaggio del adattatore 
Coloque los soportes del adaptador
Instalação de braços adaptadores
Zainstaluj ramiona uchwytu

EN
NL
DE
FR
IT
ES
PT
PL

STEP 4

Install the adapter brackets
Bevestig de adapter steunen
Montage der Halterungsschienen
Installation des supports d’adaptateur
Il montaggio del adattatore 
Coloque los soportes del adaptador
Instalação de braços adaptadores
Zainstaluj ramiona uchwytu

EN
NL
DE
FR
IT
ES
PT
PL

OPTION

E

200 mm

Y

AA

AB

AC

Z

200 mm



3-5 mm

Attach the VESA Plate to the monitor	
Bevestig de VESA plaat op de monitor
VESA Platte am Monitor fixieren	
Fixation de la plaque VESA sur le moniteur	
Collegamento del piatto VESA al monitor	
Colocación de la Placa VESA en el monitor	
Colocar a placa VESA no monitor	
Zamontuj płytki VESA do monitora	

EN
NL
DE
FR
IT
ES
PT
PL

STEP 5

Attach the VESA Plate to the monitor	
Bevestig de VESA plaat op de monitor
VESA Platte am Monitor fixieren	
Fixation de la plaque VESA sur le moniteur	
Collegamento del piatto VESA al monitor	
Colocación de la Placa VESA en el monitor	
Colocar a placa VESA no monitor	
Zamontuj płytki VESA do monitora		

EN
NL
DE
FR
IT
ES
PT
PL

OPTION

H

3-5 mm

Add spacers  
if necessary

D

AC

AB

LM

N

W
X



O

I

Attach the screen onto the bracket and secure it
Bevestig het scherm aan de steun en zet vast
Bevestigen und sichern Sie den Bildschirm an der Halterung
Accrochez l’écran sur le support et fixez-le
Appendere lo schermo sulla staffa e fissarlo
Cuelgue la pantalla en el soporte y asegúrela
Pendure a tela no suporte e prenda-a
Zawieś ekran na wsporniku i zabezpiecz go

EN
NL
DE
FR
IT
ES
PT
PL

STEP 6

Adjust the torque
Stel het koppel in
Einstellen des Drehmoments
Réglage du couple
Regolazione della coppia
Ajuste el tornillo
Ajustar os parafusos
Dostsosuj siłę docisku regulacji obrotu monitora

EN
NL
DE
FR
IT
ES
PT
PL

STEP 7

O

I

H

K



Adjust the mount to your desired position
Stel de steun in op de gewenste positie
Positionieren der Halterung in der gewünschten Position
Ajustez le support à la position souhaitée
Regolare il supporto nella posizione desiderata
Ajuste el soporte a la posición deseada
Ajuste o suporte na posição desejada
Dostosuj pozycję uchwytu do twoich wymagań

EN
NL
DE
FR
IT
ES
PT
PL

STEP 8

JJ

K




